Chapter 11, exercise 4
4. As part of a study of corporate employees, the Director of Human Resources for PNC, Inc.

wants to compare the distance traveled to work by employees at their office in downtown

Cincinnati with the distance for those in downtown Pittsburgh. A sample of 35 Cincinnati

employees showed they travel a mean of 370 miles per month, with a standard deviation of

30 miles per month. A sample of 40 Pittsburgh employees showed they travel a mean of

380 miles per month, with a standard deviation of 26 miles per month. At the .05 significance

level, is there a difference in the mean number of miles traveled per month between

Cincinnati and Pittsburgh employees? Use the five-step hypothesis-testing procedure.
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Chapter 11, exercise 16

16. A recent study compared the time spent together by single- and dual-earner couples. According to the records kept by the wives during the study, the mean amount of time spent

together watching television among the single-earner couples was 61 minutes per day, with

a standard deviation of 15.5 minutes. For the dual-earner couples, the mean number of

minutes spent watching television was 48.4 minutes, with a standard deviation of 18.1 minutes.

At the .01 significance level, can we conclude that the single-earner couples on average

spend more time watching television together? There were 15 single-earner and 12

dual-earner couples studied.
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Chapter 11, exercise 42

42. The president of the American Insurance Institute wants to compare the yearly costs of auto

insurance offered by two leading companies. He selects a sample of 15 families, some with

only a single insured driver, others with several teenage drivers, and pays each family a

stipend to contact the two companies and ask for a price quote. To make the data comparable,

certain features, such as the amount deductible and limits of liability, are standardized.

The sample information is reported below. At the .10 significance level, can we

conclude that there is a difference in the amounts quoted?
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	Car
	Brand 1
	Brand 2
	Difference
(Brand 1 - Brand 2)
	
	
	
	

	1
	2090
	1610
	480
	230400
	
	
	

	2
	1683
	1247
	436
	190096
	
	
	

	3
	1402
	2327
	-925
	855625
	
	
	

	4
	1830
	1367
	463
	214369
	
	
	

	5
	930
	1461
	-531
	281961
	
	
	

	6
	697
	1789
	-1092
	1192464
	
	
	

	7
	1741
	1621
	120
	14400
	
	
	

	8
	1129
	1914
	-785
	616225
	
	
	

	9
	1018
	1956
	-938
	879844
	
	
	

	10
	1881
	1772
	109
	11881
	
	
	

	11
	1571
	1375
	196
	38416
	
	
	

	12
	874
	1527
	-653
	426409
	
	
	

	13
	1579
	1767
	-188
	35344
	
	
	

	14
	1577
	1636
	-59
	3481
	
	
	

	15
	860
	1188
	-328
	107584
	
	
	

	
	
	
	
	
	
	
	

	
	20862
	24557
	-3695
	5098499
	
	
	

	
	
	
	
	
	
	
	

	
	1390.8
	1637.133333
	-246.3333333
	sample mean
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	5098499-(-3695*-0.3695)/15
	

	
	
	
	
	4188297
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	299164.1
	
	
	

	
	
	
	
	546.959
	standard deviation
	

	
	
	
	
	
	
	
	


